Section 3 Session 10
AR ANSWER . we

1 Lx5 =
2 7x2 =
3 8x10 =
b 14+ 2 = i
5 30+5 =
6 30+ 10 . =
8 7+6+3 - 1 Double Alisha’s score.
8 6+9+7 =
: 2 Double Robbie’s score.
9 8+3+6 =
3  Double Matilda’s score.
10 9+4+8 =

I L  Divide Alisha’s score by 5.
DD e R

What is the product of

5 Divide Robbie’s score by 2.

- 6 Divide Matilda’s score by 10.

1 8and 2?
2 10and 10?
3 3 qnd 5? .

Share equally

- & L5 between 5.
5  60 between 10. |
e How many eggs in ‘
6 i
18 between 2. B 2 oes?
7 Double 1lp is =
8 5 boxes?
8 Double 18ml is ml
= 9 10 boxes?
9 Double 13kg is kg
10 Double the eggs in one box
I Pouble B2 s £ : and take 6 eggs away.
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